TOP BRACKET
FLAG BRACKET (TYP)

NOTES:
1. REGAL SHOWN, CELEBRITY, AMERICAN 100, CS, XL, CSX OR CSL SERIES . ATTACHED WITH 5/16°X1-5/8" LAG BOLT. B
MAY BE SUBSTITUTED. SEE DETALL "H TOP PLATE ATTACHED WITH 4— 5/16"X1-5/8" Top Locking Plate
2. STRUTS ATTACHED WITH 2 SELF DRILLING SCREWS (HEADER TO BE DESIGNED TO WITHSTAND :
1/4"—20 X 3/4" AT EACH STILE LOCATION A LOAD OF 2,222 LBF) |+— STRUT
3. MINIMUM STEEL THICKNESS FOR SECTION IS 25 GA. (.0185"). = = = = = - =1 | 2 1/4"22ga.
SEE DETALL "E”
4, SECTIONS EMBOSSED 14.00"x20.375" ,16” X20.375", 14"X41", 16"X40" HM ; : : : : ;
OR SECTIONS WITHOUT EMBOSSMENT MAY ALSO BE USED. T
(LOCATION AND QUANTITY OF CENTER STILES MUST BE THE SAME). . 3
5.  TORSION SPRINGS OR EXTENSION SPRINGS AVAILABLE. B 2 N
LOCK MUST BE ATTACHED AT EACH SIDE OF THE DOOR. : '
CAM & BAR LOCKS OR AN OPENER MAY BE SUBSTITUTED. ; ; : ; : ; :
7. WOOD MOUNT SHOWN, STEEL AND MASONRY ANGLE AND REVERSE (BN . : : . . . ) ,
ANGLE MOUNT AVAILABLE. NUMBER OF JAMB BRACKET ANCHOR BOTIOM JAMB BRACKET LooTeD 4 o ) ; i ; ; 5 |
LOCATIONS MUST BE THE SAME. S&F&“@'&iﬁ‘ﬂ?’"&%%“mm ] LConnecting Bracket
8. JAMB DETAIL IN ACCORDANCE WITH DWG. # RCWL—0001 S RN Mo Wi o B \
(5/18 X 1-1/2 MIN) LAG BOLT. 3 s A . . , . : N \N dload Post
9, STRUT PLACEMENT SHOWN IS TYPICAL (STRUTS ARE OVER THE HINGES : i : i : ? ; : "
AS SHOWN USING THE HOLES PROVIDED IN THE HINGE) SEE DETAL "E” | A : ' : : : : ' (8ft Max) .
10. THIS DOOR HAS NOT BEEN TESTED FOR WIND—BORNE DEBRIS. : : : : 2l [\ —Connecting Bracket
11. USE THIS DRAWING IN CONJUNCTION WITH INSTALLATION INSTRUCTIONS. : : i 320 GA.
WHERE THE DRAWING CONFLICTS WITH OTHER INSTALLATION d ; : ; perar. 61 s ; : 3 ;
INSTRUCTIONS, THIS DRAWING GOVERNS. ; : N : : : :
d d d d 5 =+ STRUT
2 2 ] 3”20 GA.
- M L] 4
i i ; ; ; ; / y y\sn-:l-: DETAIL "F"
= = = = 1= Bottom Locking Plate|
BOTTOM PLATE ATTACHED WITH SR EAFLECA
4 - 3/16 X 1.25" MIN TAPCONS weather sedl
SEE DETAL "D SECTION "B-B”
(16ft Max)
/ Clamp Bolt o M~
ROLLER A \
o : ©
9 7/16" PIN W/KEEPER Extra Screws for post only ° °
1/4" TRACK BOLT & NUT P —————
#80932 & #80930 o 8 OR 5/32° CABLE < |
ypam— L I
o |-BEAM POST L il —
o o g ° STRUT ON TOP OF BOTTOM BRACKET.
4" REF.
l LOWHEADROOM TOP FIXTURI ’ | m
5/16"X1 5/8" LAG SCREW . <
#80906 TYP. <oREW LOGTIONS . 3" 20GA. STRUT SCREW LOGATIONS P, SCREW LOCATIONS Typr e — ROLLER
DETAIL D DETAIL E DETAIL F DETAIL G DETAIL H
oz -
PROFESSIONAL ENGINEER'S JOHN E. SCATES, P.E.
SEAL PROVIDED ONLY FOR 3121 FAIRGATE
VERIFICATION OF WINDLOAD CARROLLTON, TX
DESIGN LOAD +41.6/—46.3 CONSTRUCTION DETALS Rre g
This product was tested/evaluated in accordance with ANSI/DASMA 108-05 Q_'D/;ﬁ- /J m R:- By [Date| Description TscaLe N.T.S. | pae
m
e {1/12/12] wdaed tor 2010 1 | 8 DRAWN BY _ BJR "-vallliA Mid—America Door Company  ponca cmv, ok
_|7/m/120  updoled HOTES 10 INITIAL CHK. BJR ® DESCRIPTION

" FINAL CHK.
12

13 ENGR. e ‘ BWG. NO. SHT. [ REV.
1% APPR. BY __ JS. -
i WINDLOAD CONSTRUCTION DETAILS RCWLE-1608 | OF I_WZET

REGAL/ CELEBRITY WINDLOAD SERIES

NOTES: THIS DRAWING AND / OR TECHNICAL INFORMATION ON THIS SHEET IS THE PROPERTY OF MID-AMERICA DOOR COMPANY AND IS
LOANED IN CONFIDENCE FOR ENGINEERING AND MUTUAL ASSISTANCE PURPOSES ONLY, AND MAY NOT BE REPRODUCED OR USED TO
MANUFACTURE ANYTHING DISCLOSED HEREON WITHOUT THE EXPRESSED PERMISSION OF MID—AMERICA DOOR COMPANY.

\lou-bun-og




i - NOTES:
O [ THICKNESS ) 1. STRUTS ARE NOT MORE THAN 1 1/2" SHORTER THAN SECTION.
2 7/16" 2 3/4" —~3l— 2, USE IN CONJUNCTION WITH INSTALLATION INSTRUCTIONS.
@) a P 5 WHERE THE DRAWING CONFLICTS WITH OTHER INSTALLATION
L | 0)) c” INSTRUCTIONS, THIS DRAWING GOVERNS.
© (—I_I_ )
i 2.25" or 3"
12 CA.
L1
14 GA, 7/
2 3/8” 2 qr. /Q e’
STRUTS
16 GA.
A THICKNESS DF STRUTS ARE AS STATED BELOW TRACK BRACKET
L———S 5/ 8"—4 2,25 22 GAUGE 33 KSI MINIMUM YIELD| .028° MIN,
3* 20 GAUGE 50 KSI MINIMUM YIELD | .036* MIN, P
P/N 20356 TOP FIXTURE ] I
4 3" 20368
— 5 3 1/4" 20370
D 6 31/2" 20372
\ 7 3 3/4" 20374
11"
o 0 S 16
13 GA,
HINGE #| GAGE #| “H” | PART NUMBER ~—L 0 @
1 14| 3/4 20602 75 Q%\@W
2 14 |1 20606 8 3,)\
3 14 1.1/4" 20610 T \<
4 14 11/2" 20614 ”
2%
P/N 20334&5 BOTIOM BRKT.
WINDLOAD TRACK /
THICKNESS OF TRACK IS AS STATED BELOW
VERTICAL TRACK IS MIN, 16 GA. | ,058° MIN
HORIZONTAL TRACK IS MIN. 16 GA.| 058 MIN 20366 &/ FLAG BRACKET
L] ) [] [ } /—.034" MIN.
° O 0O ° s O o OO0 °
o o o Q [

P/N 10455 & 10465 (21" & 18") CENTER STILE

4 1/2” MIN

P/N 20804 SHORT STEM 10 BALL ROLLER ﬁ“”gfg/g

- 034 MIN. {1z
S o2 oo 6 oo oo S0 3 PROFESSIONAL ENGINEER'S JOHN E. SCATES, P.E.
SEAL PROVIDED ONLY FOR 3121 FAIRGATE
° ° VERIFICATION OF WINDLOAD CARROLLTON, TX
CONSTRUCTION DETAILS FL. P.E # 51737
) ) TX. P.E. # 56308, F—2203
P/N 10450 & 10460 (21" & 18") END STILE Rl oy Toua R o oo o Tsone  NTS. | one
0 2/24/04) NN DAANG B
T T o il e mwo | DRAWN BY _ BJR  [12-4-0¢ llliA Mid—America Door Compan:
Pany  ponca ciy, ox
2| [17mna] waed et w5 | 10 INITIAL _CHK. BJR . 'DESCRIFTION
. 3 . 1 - '
NOTES: THIS DRAWING AND / OR TECHNICAL INFORMATION ON THIS SHEET IS THE PROPERTY OF MID—-AMERICA DOOR COMPANY AND IS j s 2 T aa— - WINDLOAD SERIES HARDWARE ,:
LOANED IN CONFIDENCE FOR ENGINEERING AND MUTUAL ASSISTANCE PURPOSES ONLY, AND MAY NOT BE REPRODUCED OR USED TO | 5 13 PR BT R —TILE DWG. NO. | S [ PRV
MANUFACTURE ANYTHING DISCLOSED HEREON WITHOUT THE EXPRESSED PERMISSION OF MID—AMERICA DOOR COMPANY. ! 2 = : WINDLOAD CONSTRUCTION DETAILS | RcwLs-1608 o | 2
]




5.0"

10 GA.
— 225—] } ® ®

251" 3.0° 5.25"
9/16%—m

. L 1/2" Nut I

;° 1/2" bolt Q1Y 2) ALUMINUM Post 2.292 Ibs/ft P/N 85020 ® ®
A ' P/N 20964 BOTTOM LOCK PLATE.
: 146~ ] ~—1.00"

3 1 /4" x 2-1/2" @_—\ _ 10 GA.

5 LAMP BOLT & NUT Hole for Pin N

o 5.0

¥ . @ @ ®

4 B i O

[ 6.25"

| @ @ "
B' Windlood Post 5/16>

B @ @ @

, P/N 20965 CONNECTING BRACKET,
g \ Connecting Bracket / OR 5/32" CABLE, P/N 20963 TOP LOCK PLATE.

: — 1/2" x_ 9" CARRIAGE HEAD BOLT WITH NUTS

b 5 .
., <8
1/4" bolt with nut QTY 4 »
L] 7/16" PIN WITH KEEPER. lo(12.
Bottom Lockipg Plate Attached ’
° it (4 377609, %8 PROFESSIONAL ENGINEER'S JOHN E. SCATES, P.E.
b wih (5 373655 125 ppcans SEAL PROVIDED ONLY FOR 3121 FAIRGATE
E VERIFICATION OF WINDLOAD CARROLLTON, TX
CONSTRUCTION DETAILS FL. P.E. # 51737
— TX. P.E. # 56308, F~2203
‘AN ‘-
: Rov.| By | Date | Description [Rev. [By IDate ] Description [scarlE N.T.S. DATE
4 * ) 1/a4/d . )
o vl o o DRAWN BY _ BJR  [11-24-08 IlliA Mid—America Door Company  ponca o, ok
2 | m [/ w10 INITIAL_CHK. BJR ~__ IDESCRIPTION
3 1 AL CHK. -
NOTES: THIS DRAWING AND / OR TECHNICAL INFORMATION ON THIS SHEET 4S THE PROPERTY OF MID—AMERICA DOOR COMPANY AND IS 3 12 Z':GR ohk W | WINDLOAD POST HARDWARE
LOANED IN CONFIDENCE FOR ENGINEERING AND MUTUAL ASSISTANCE PURPOSES OMY, AND MAY NOT BE REPRODUCED OR USED TO s 13 ‘ oR e BWG. NG ST T
MANUFACTURE ANYTHING DISCLOSED HEREON WITHOUT THE EXPRESSED PERMISSION OF MID—AMERICA DOOR COMPANY. C 1 ~ WINDLOAD CONSTRUCTION DETAILS | Rows-1607 | & | 2




